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FEUILLE 5 DE 16Candidat‐e:DEVOIR 7

ECH.1:2 (A3)MARQUISE ‐ COUPE AA ET BB

COUPE A‐A

COUPE B‐B

CALCUL DU TRIANGLE

LGR. A= LGR. B=

 DETAIL 3

DETAIL 2

 DETAIL 1

200 1460

60

PLAT ÉP 12MM‐S235JRG2

ROR42.4*2‐S235JRG2

1290 170

Niv.8370

PLAT ÉP 12MM‐S235JRG2



170 200

+
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FEUILLE 6 DE 16Candidat‐e:DEVOIR 7

ECH.1:2 (A3)MARQUISE ‐ DETAIL 1



300 1460

AXE ROR

FEUILLE 7 DE 16Candidat‐e:DEVOIR 7

ECH.1:2 (A3)MARQUISE ‐ DETAIL 2



170

Niv. point de schéma

FEUILLE 8 DE 16Candidat‐e:DEVOIR 7

ECH.1:2 (A3)MARQUISE ‐ DETAIL 1



FEUILLE 11 DE 16Candidat‐e:DEVOIR 7

ECH.1:2 (A3)MARQUISE ‐ COUPE CC



FEUILLE 13 DE 16Candidat‐e:DEVOIR 7

ECH.1:2 (A3)MARQUISE ‐ COUPE CC



FEUILLE 14 DE 16Candidat‐e:DEVOIR 7

ECH.1:2 (A3)MARQUISE ‐ COUPE CC



FEUILLE 15 DE 16Candidat‐e:DEVOIR 7

ECH.1:2 (A3)MARQUISE ‐ COUPE CC
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